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Similarly Trumas Ma’aser is taken by estimation and thought

Overview

The 770 writes' regarding “Wwyn nman that 172 78922) 1147 1% 1372 2902199 03 W)

2p3. The word onmAn is written in the plural. X923 72 91¥9R XAk derives from this
that the 70 is discussing two types of 7m0 (regular 72173 72170 and “wyn nmIIN),
and since the 7710 compares them, we say that just as 30 is 7awWnN TAINR DOV,
O too 1IN is 7AW AR NHY. It would seem that we compare »"n to "0 for
two rulings 7awnna NHY N TR NHYL.

- 22N KPDY 11NN NAYNN HANR 49957 XD 1IN 1857 2090973 W99
>'"'w9 explained that it is only regarding 728 that we derive »"7n from 1"7n,
however the rule of mawn» we derive both 3"7n and »"7n from 'awnn'.

mooin offers a differing view than >"wA:
= 1153 2N57 2) UY 4N 9999 ) NAYNN ) ON

Or you may also say that we also derive awn» by »"3n from 3"7n, for even

though 72wnn is written (explicitly) by »"1n,* nevertheless we derive it from 3"n -
=939 Y991 HNIYIY DT YR NDITH D215 132917 19900 119 1T 13 29NIT DIVN

Because the 2wn which is written in this P05 is referencing what the 109 states
later 399377 32 3272 (like the grain from the silo), which means »''n; for 3"n is the

first grain which the Yx~w» separates from his silo -
- Snaunm 19399 N9 11PIINY DY YIPN N9 NIPT

So the ?op itself compares »"7n to A''9n regarding mawmn.

M5 continues:
= TINM 12399 NON ND1I) 12 9TYON RANT 199 1929 22999 NHT AN

And it seems to Mdo1N that the 3121 only argue with 3''aRR regarding 7282 that
the 7127 require measurement (not TAIX) -

Ura,m (mp) ma7ma.

2 mawnna 7'

* The word 2wnn' (which indicates that it is 7awnma nYv>1) is written by n"n (see ‘Overview’). Therefore we need
not derive it from the comparison of 2onm7n. However that »"1n can be 7282 nbwe1; this we need to derive from
3"7n (see 72 7"7 °"wM), for TMIX is not written by »"In.

* See footnote # 3.

> The 77 is telling us the reason »"70 is 7awn»n2a N is because n"In is like 3" (which is 1737 11 1372) so just as
"IN is 7awnna noY, so too 1N is mawnna . See ‘Thinking it over’.
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- 2503 N9 NN 999 KXY Hawnmna Yan

However regarding 72wn» they do not argue for the P05 states 'awni, so all agree
that »"1n is also mawn®a NHYL.
- NAYNNIA NHV )V Smm1905 an 1999 2133 (3,81 91 pwrtp) YIPN YINN W)

And also in the beginning of wp»n WK P75 the X i asks; ‘do you know why

one can make a 7?2 by 72170 because it is 7awnaa nbwa -
- DNN D) OAX 712 25NT AUYN NN 19N 299 RNIYY 91957 Ywn

It seems that the X n is asking this question according to everyone (even the

1127), and this is regarding »''"n where anX a3 anX is written. Therefore noon
concludes that even the 13127 maintain that »"9n is 72wn»2 Now.

mMdoIN argues with *"wA regarding the view of the 1121 by mawnn:®
- (4,03 11932 YT VIVIPN YIT0 XY

And this is not like >''w=5 who explained in n19152 n>on -
- XYM 12 MTYIN NAND AN %293 Y09 39 YD navnn oiwnt

That the reason the X1 establishes v''299 like 3''aRkR is because of awnn -
2492 DY ah YHaTa nﬂ:l\’)hb 999%AY 1Y NNT IV NAVYMHNN NONINDND LYW 1PN
bl A M

However the simple understanding of that X923 is not in accordance with
"w19, for why should we mention ;723wn? in the statement of 5''2%97?!

Summary
According to *"w1 we derive 7awnn by n"In directly from 2wnn and the 7129

disagree with 3"2RX regarding 72wnn (and 72IX), while '010 maintains we can derive
7awnn by n"an for "0 and the 7127 agree with 3"aRX regarding 72wnn.

Thinking it over
Is there any difference between *"w15 that 7awnn by »"7n is derived directly from

® See footnote # 7.

"In na ,m (7p) 72712 (after the p108 cited in footnote # 1) regarding »"2n, the 770 writes, 7T D20 2N 83 1270 12
1757 TIIN? MY NINA DR A33n DRNN PRI 32 NRH PR WK 02°nayn 99n. We derive from ank o3 to include a mhw
that he too can be 7170 W 5n.

¥ According to MmpoIn the 1127 agree with 3"2axx regarding that »"2n is 72wnn2 Nv1, however *"w1 maintains that the
1327 argue with 3"2aRX both by 72X and by mawnn.

? See TmbN7 w1 XX # 105 (as to where [whether] >"w1 says this).

12 See previous aw> "7 'on TIE footnote # 16-19. w1 answers Moo question there that the 7327 do not permit
7awnn, so if he separated the ten percent mawnn2 7»72 Wwyn without saying that it is wyn, it will not be valid
according to the 1327, but only according to 3"a8X who maintains that it is 7awn»a now..

" Why should we even assume that he was 72wnna w95 seemingly the understanding is that he was 112772 w*on.
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'awnaY, and Moo who derives'? mawnn by n"n from 3"n?

12 See footnote # 5.
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